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Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks) i
Answer any TEN questions.
=
1.  List out the uses of statistics. i g
yereflwudefen Lwensener LiL g wWeh(His. ’_‘Z
2. State the various methods of collecting primary g
data. 4
wsd Heoe olagtsmas Cssfégnd opsamas )
s, - "
3.  What is meant by Tabulation? (4'\
S L_auenamuil(HFe erenmmed crevien? </
4. Name the different types of diagramms commonly &

used in statistics.
yerafiliwele e uGursiiu@sgsiu@n  Qurgeurer C'O
ellergs LIL Bisaflen cuenssamar samis. ‘

5.  What is meant by control tendency of data?

yerefl efeugmiseflen enww Hlanets Gunsg eremmmed
eremen?



6. Define standard deviation.

S Lelewssid — euenywimy.

7. What do you mean by mean deviation?-
synafl elewssn uhd Bellit ih6eulgemen?

8. State the Bowley’'s Formula for measuring
skewness.
Quereflldenr Gamit ameheu FaUEHL 2 Faybd
GSEsms aT(WgIs.

9. Find the mode of the following data :
3,575,9175,7,6,3,9,5,6,6,3
Sipeu(pld Lerefl efeupiuseflan wpa@ sners.
3,5,7,5,9175,7,6,83,9,5,6,6, 3

10. Find the coefficient of Range for the following

data :
Wages (in Rs.): 35-45 45-55 55-65 65-75 75-85
No.of Workers: 18 22 30 6" 4
Epsremid efleurhis@ErsE iFeds Asalamarn sam@idly.
gaed (@.) 35-45 45-55 55-65  65-75 75-85
Osmporaisafier 18 22 30 6 4
aamenfléens
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Spergnd  smeoQaudar  Lrugsg  Quereluler 11.
Gl L&@spelmen sansd(Hs.
R0 GOLUSSHeD 2 dTer 0 1 2 3 4 5 6
Gyhbamgsailen aramaiéms ©
GO buBsefer 7 10 16 25 18 11 8
cremenflsans :
12.
13.
14.
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A Aeroplane covered a distance of 800 miles with
four different speeds of 100, 200, 300 and
400 m.p/h for the first, second, third and fourth
quarter of the distance. Find the average speed in
miles per hour.

@m alwrend preng eflgwrer Geusmager 100, 200, 300
wpmd 400 emweasdr @@ walCEIEHDE  eremp
diggdleo 800 amwevsmer @pge, QT Teus
fpeTpreugl LHMILD prasTeug sTalpSuns sL_sfng.
(1 awfl Grr_r,lyg,'g‘,[r_ba;rrm gyrsh Gous Dijerancu e 1.

X =53.8,0=28.14, Mode = 44.74. Find the
Pearson’s co-efficient of skewness.

X=538,0=28.14, wa® = 44.74, Quisefer
Cam_L 0@ apelaman saw(idly..

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Define Statistics. Discuss its scope and limitation.
yarafllued  euepum. oiger WsHusgousmSLLD
Gapur@aEemeru|b efleurd).

Define co-efficient of variation. What is its use?

oy 69856 Q& cuaTwIm. DISET LWIGTSET WTaneu?
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15.

16.

17.

Form a group Frequency table with intervals
0-10, 10-20 etc., from the following data :

15 27 23 32 49 19 50 38 37 25 30
29 42 37 18 12-13 9 18 27 50 32
47 48 29 30 33 37 27 41

Spsragmid  yerell  cleupmismens Qamew®  GMey
@aGeafl  0-10, 10-20... @Qm&ELIH GY

Slma6leuat L cuamentenwis swirflss.
15 27 23 32 49 19 50 38 37 25 30

29 42 37 18 12 13 9 18 27 50 32
47 48 29 30 33 37 27 41

The mean of the marks in statistics of 100
students of a class was 72. The mean of marks of
boys was 75 while their number was 70. Find out
the mean marks of girls in the class.

100 wremreuirsaflen Lerafludwied wuG@uamaatien symef]
72 g,@w. 70 eamseflear syrafl wHuGuemr 75 o @Lb.
eraled eu@GUGgeTer Quairgsaflen gymef
wHICuemEemer sEawr(HiLdly..

Calculate the Harmonic mean of the following

data :
X: 10 12 14 16 18 20

f: 5 18 20 10 6 1
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23. Calculate the quartile deviation and its co-efficient

for the following frequency distribution.

. Marks above : 0 10 20 30

No.of students :

150 142 130 120

Marks above : 40 50 60 170

No.of students: 72 30 12

Spsramid el  UFUNIES

4

SITGLDITEST

Messuibd e edless Aapamaiu|b seam{Hibly.

UG ST : 0 10 20

LD T eu T 6rfl 6ot 150 142 130

creTenilGens
wHLQuaTser : 40 50 60

LDmeTEUTSHGT 6o 72 30 12
eTeRTaniiEams

30

120

70

24. Calculate Bowley’s co-efficent of skewness from

the following frequency distribution.
No.of Children per family : 0o 1 2 3

No.of Families :

4 5 6

7 10 16 256 18 11 8
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22,

Sifley 21 GueHT
41 -50 12
51 -~ 60 10
61-170 8
71-80 8
81-90 6
91-100 6

The scores of two players A, and B in 12 rounds’

are given below :
A: 74 75 78 72 78 77 179

B: 87 8 80 88 89 85 86
A: 81 79 M 72 71
B: 8 82 79 86 -80

Identify the -better player and the more
consistent player.

VA wpgd B opflu @@ efenemwun @ elipisefien 12
rajar(haafler - auGamien Qan(pasiiug (Herarg).
@meufler wir Apps elemerum’ @ ey eremiemsi b

Qzriibg Hevwner 6IFT raTIMSUD StEHLITETLD |

STERTE.
A: T 75 78 72 78 71 19
B: 87 84 80 88 89 85 86
A: 8 79 176 72 171
B: 82 82 79 86 80
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18.

19.

Epsramib cleurmsEnss Gmsserrefau sanss@s.
X: 10 12 14 16 18 20
f: 5 18 20 10 6 1

Calculate standard deviation from the following
data :

Marks : 10 20 30 40 50 60

No.of students: 8 12 20 10 7 3

Spsragnid  ydrafl  dleupmsErse Sl elwssod

saTEH (N S.

wHiGuewsear: 10 20 30 40 50 60

LD IT GO0T 6L (T &5 61T 68T 8 12 20 10 7 3
cTanTenti Gens

For a distribution, Bowley’s co-efficient of
skewness is —0.56, @, =16.4 and median = 24.2.

What is its coefficient of quartile deviation?

em ugeueled, Guafeluder CamL&0sy ~0.56,
@, =16.4 wpmd Qe flene = 24.2. arafled smeiomar
eflewss0 a1 eTemen?
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PART C — (3 x 10 = 30 marks) : 21. Find the Mean, Median and Mode for the following
Answer any THREE questions. data and verify the empirical relation.

Class Frequency
20. Draw a circular diagram from the following data : ‘ 1-10 3
Type of commodity Expenditure in Rupees
Family A Family B LSO T
Food 300 500 . i 13
Rent 200 350 31-40 17
Clothes 125 250 41 - 50 12
Education : 110 225 51-60 10
Miscellaneous 75 125 61-170 8
Savings - 90 150 71— 80 8
Spsnamid efleupmisaens Qamem® eul L eflerdsluL LD 81 -90 \ 6
A 91 — 100 6

Qun@lsaflar  Qeweyger (epumuile)
Epsramib Yetaflefeurmiismers Qaneam®, sal (@) symef,

QUM ESHET b A tbuw B
&0 @Q QaLflow wipw PsOE@msE  srars.  Ggib

2 emray 300 500 SiaupPpdlan Gui o érer 2_pay apanmeni Condlés.
GUTL_6n& 200 350 Wifley 16ne0 6 Guetir
2 L 125 250 1-10 3
sevell 110 225 11-20 |17
@57 auamsseT 75 125 21-30 13
Galiiy 90 150 31-40 17
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